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Section - A

(Objective Type Questions)

[k.M & v[k.M & v[k.M & v[k.M & v[k.M & v
¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½

Note: Each question carries 02 marks. For the

following questions write your correct/most

appropriate answer.

izR;sd iz'u  02 vadksa dk gSA fuEufyf[kr iz'uksa ds
viuh mÙkj iqfLrdk esa lgh@lokZf/kd mi;qDr mÙkj
fyf[k,A

1. (i) Which states of India derived maximum

benifits from new agricultural strategy.

Hkkjr ds dkSu ls jkT; u;h d`f”k j.kuhfr
vf/kdre ykHkkfUor gq, gS \
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(a) Punjab, Rajasthan and Gujrat.

iatkc] jktLFkku rFkk xqtjkr

(b) Haryana, J & K and Uttar Pradesh

gfj;k.kk] tEew&dk'ehj rFkk mÙkj izns'k

(c) Punjab, Maharastra, and Kerala

iatkc] egkjk"Vª rFkk dsjy

(d) Punjab, Haryana, and Western Uttar

Pradesh.

iatkc] gfj;k.kk rFkk if'pe mÙkj izns'k

(ii) Who has made the first estimate of poverty

in India ?

Hkkjr esa xjhch ekiu dh 'kq:vkr lcls igys
fdlus dh \

(a) Dada Bhai Nauroji

nknkHkkbZ ukSjksth

(b) V.K.R.V. Rao

oh0ds0vkj0oh0 jko

(c) B.S. Minhas

ch0,l feUgkl

(d) A.K. Sen

,0ds0 lsu

OR

vFkokvFkokvFkokvFkokvFkok
Explain the major drawbacks of agricultural

marketing in India. What measures have been

taken to improve the system of agricultural

marketing ?

Hkkjr esa d`f"k foi.ku dh izeq[k dfe;ksa dh O;k[;k
dhft,A d`f"k foi.ku lq/kkjus ds fy, dkSu ls mik;
viuk;s x;s gSa \
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(iii)When was the Kisan Credit Card Scheme

Introduced in India ?

Hkkjr esa fdlku ØsfMV dkMZ ;kstuk dks dc 'kq:
fd;k x;k \

(a) 1965-66

(b) 1991-92

(c) 1998-99

(d) 2005-06

(iv) When was Ryotwari system has first

Introduced in India ?

Hkkjr esa jŞ ;rokM+h iz.kkyh dh 'kq:vkr lcls igys dc
dh xbZ \

(a) 1793

(b) 1772

(c) 1857

(d) 1951

(v) Which of the following states in India

witnessed negative population growth

during 2001-2011 ?

2001-2011 ds n'kd esa Hkkjr esa fuEufyf[kr
jkT;ksa esa ls fdl jkT; esa tula[;k o`f) nj
_.kkRed Fkh \

Section - C

 [k.M & l [k.M & l [k.M & l [k.M & l [k.M & l

Note: Answer the following qustions. Each question

carries 15 marks.

fuEufyf[kr iz'uksa ds mÙkj nhft,A izR;sd iz'u  15

vadksa dk gSA

5. What are the main object ives o f  land

reforms? How far have these objectives been

achieved ?

Hkkjr esa Hkwfe lq/kkj ds izeq[k mís'; D;k gSa \ bu
mís';ksa dks dgk¡ rd izkIr fd;k tk ldk gS \

OR

vFkokvFkokvFkokvFkokvFkok
Explain the functioning and importance of Self-

Help Groups (SHGs) is rural development in

India.

Hkkjr esa xzkeh.k fodkl esa Lo;a lgk;rk lewgksa dk dk;Z
,oa egRo le>kb,A

6. Critically examine the functioning of NABARD

in providing rural credit.

xzkeh.k lk[k izca/k esa ukckMZ dh dk;Ziz.kkyh dk
vkykspukRed ijh{k.k dhft,A
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(a) Goa

xksok
(b) Kerala

dsjy
(c)Karnataka

dukZVd
(d) Nagaland

ukxkyS.M

Section - B

 [k.M & c [k.M & c [k.M & c [k.M & c [k.M & c

Note: Each question carries 10 marks. Answer the
following questions within 250 words. Each
question carries 10 marks.

izR;sd iz'u  10 vadksa dk gSA  fuEufyf[kr iz'uksa ds
mÙkj yxHkx 250 'kCnksa esa nhft,A izR;sd iz'u  10
vadksa dk gSA

2. Explain the problems of small scale industry
in India.

Hkkjr esa y?kq m|ksxksa dh leL;kvksa dh O;k[;k dhft,A
OR

vFkokvFkokvFkokvFkokvFkok
Explain the Challenges of Mahatma Gandhi
National Rural Employment Guarantee scheme
in India.

Hkkjr es egkRek xk¡/kh jk"Vªh; xzkeh.k jkstxkj xkjaVh
;kstuk ds pqukSfr;ksa dh O;k[;k dhft,A

3. Discuss the causes of incresing poverty in

Indian economy.

Hkkjrh; vFkZO;oLFkk esa c<+rh fu/kZurk ds dkj.kksa dh
foospuk dhft,A

OR

vFkokvFkokvFkokvFkokvFkok

Describe the main causes of infleation in the

Indian economy.

Hkkjrh; vFkZO;oLFkk esa eqnzk LQhfr ds eq[; dkj.kksa dk
o.kZu dhft,A

4. Discuss the main features of the tribal

economy.

tutkfr vFkZO;oLFkk dh izeq[k fo'ks"krkvksa dk mYys[k
dhft,A

OR

vFkokvFkokvFkokvFkokvFkok

Explain the causes of low productivity in

agriculture.

d`f"k esa fuEu mRikndrk ds dkj.kksa dh O;k[;k dhft,A


